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| Time: 30 Minutes

Paper Math 7 (T-6) | Total Marks: 25 |

| 1st Month, 1st Week, 6th Day | Revision Test 1st Week

Q.1. Choose the correct options. (1x13=13) -L[/C,l’s:'l&‘«b?c/»
() Add4and _?3 JIE _?3 14
17 4 3 20
(@) 5 (b) 5 © 5 @ 5
45
@7 14—
@ 2 |o 2 |jo 2 |aof £
14 14 14 14
N Y A
(iii) 6 12 ——
@ 2 |o L o Y |ao I
72 42 7 10

-13 9 9 -13

(iv)The addition of 4 and 14 will be o€ (40 4
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(v) Which one of the following is a correct descending order?
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(vi) Which one of the following is a correct ascending order?
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(vii) Complete rational number between ﬁ 9
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(viii)Convert 2H into improper fractions.
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(ix) Convert 7 into mixed fractions. -L[/'/J“ iui'/r’i}t’:( 7
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(x) Correct ascending order is:
(a) -8395, —8496, —8491, —8394 |(b)| -8491, —8496, —8395, —8394
(c) -8496, —8491, —8395, —-8394 |(d)| -8394, —8395, —8491, —8496
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(xi) Correct descending order is: :‘Ldr/'.,f}y/)
(a) [ 236.089, 236.219, 236.217, 236.207
(b)|236.219, 236.217, 236.207, 236.089
(¢) | 236.089, 236.207, 236.217, 236.219
(d)]236.217, 236.089, 236.219, 236.207
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(xii) The subtraction of Z from E - / A /’:( 5 PEY Z
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Q.2. Solve the following. (4x2=8) -GS L5t
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Q.3. By what rational number should we multiply 14 to get 7 (1x4=4)
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